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rot B = c-2 (  E / t),  (1) 
rot E = - (  B / t).  (2) 
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 (1)-(2) -
 E  B  

 rotB  rotE. 
:  

 roB  rotE ? 
 (1) 

 E ,  –  (2)  B: 
ErotB = (  w  / t),  (3) 
BrotE = - (  w  / t).  (4) 
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 (5)-(6),  (7)-(8)  

 [1-2]: 
- (rot H)/ t + rot H = j + (  D/ t),  (5) 
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(rot E )/ t + rot E = - (  B / t),  (6) 
(divD)/ t+ divD = ,  (7) 

div B = 0,  (8) 
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 CGSE : fs= (2e2/3c3)da/dt, 
 – ,  – .  

 m  f 
: 

a – (2e2/3c3m)da/dt = f/m, 
, 
: 
-

, -
. 

 (5)-(8)  
 fs, :  

 0  t  2 , Fs(p) = –{ m/[(1+p )(2 )2]}V(p);  
 t 2 ,  

Fs(p)={2 m[1–ch(2 p)]/[(1+p )(2 )2]}V(p) , 
 =(2e2/3 oc3m)  10–24 , V(p) –  
. 
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